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THANTA-0 - SAFClF Abhiad (1292)/TECHNICIAN-B - ELECTRONIC MECHANIC (1292)

1. Ife fRrer d5-9ReF fheex &1 o3 fAvar segar ¢ o
If the bandwidth of a band-pass filter increases:
(@) &g °udr £1/Q decreases
(b) 3TUdeele &I §adl g/the roll-off rate increases
(¢) 3rd-arfFa 3mgfca wedr Bithe half-power frequency decreases
(d) Fg 31'!3;%—[ gcal g/the center frequency decreases

2. o9 UH 0.16 uF & FUFT T U 1 kHz Aid T 9T ST g o 3TRT EMRar gfaerd

e fohceTT g

When a 0.16 pF capacitor is connected to a 1 kHz source, what is its approximate capacitive
reactance?

(a) 160 ohms (b) 1000 ohms (¢) 10k ohms (d) 100 ohms

3. R v oRwy & o aiar Rt 8

What is the total capacitance in the given circuit?

2F
= | o
2F
(@ 7F (b) 13F (c) 43F (d 16F
4, ;—*—aﬁmm%@Rcmﬁmﬁmmmﬁl

You could increase the time constant of an RC circuit by

(2) IRIYT IfRY F TR & v gioRies A
adding a resistor in parallel with the circuit resistance

(b) IRTY eTRAT & FAR F UF Hurfe s
adding a capacitor in parallel with the circuit capacitance

(c) T diecar &1 HAH gt
increasing the amplitude of the input voltage

@ 9Rgy #F gfadus gur FA[eX & WA H9T H deaa

exchanging the position of the resistor and capacitor in the circuit

A 3 1292/16



g U FAT & ?/What is this circuit?

2k ohm

+
it Vin % ¢ . e Vout
(a) 3=d U Thocd/high-pass filter (b) f@9ear/differentiator
() 98 YR TWhecIband pass filter (d) T IR [hecl/low pass filter

=T aRuy & U 1kHz G97 GG & AT fwar
St Qe

JTar &1 9 a3 &9

A 1kHz square wave is applied to the circuit below. The output waveform will look like

10k ohm

+|———VW

iy Vin

1kHz

0.01 yJF —”—

Vout

o Y Y

(@

& /\/\

$TRET F qoiar IARE FE F AT A Ru aRaw & 9fadue R F s

gierarelr Fafl fohctell 87

What is the energy dissipated in the resistor R in the circuit below, for fully charging the capacitor?

R

|<

—— A

1
1

(@ VR (b) % CV? () CV?

(dy "VIX,
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10.

I1.

A U uRuy #F Hufdet w qofaar 3aRa fHar /@ g1 Cl, €2 39T C3&F 3RIR
drecdr wAA: fhdel g

In the circuit below, the capacitors are fully charged. What is the voltage across C1, C2 and C3
respectively?

aF aF
I 11
)
C1
10v) c3_|_ 2F
(@) 4V,4V,2V (b) 2V,2V,6V
© 3V,3V,4V (d) 25V,25V,5V

R0 10 V DC 1T & TF Tel TR2ieh 1 31aTe & farw 3mafia fFe Ser & a1, U $harfiex &
3TRYUKR dieedl oha=l &7

What is the voltage across a capacitor after being charged from a 10 V DC source for a period of
one time constant?

@ 10V b 37V © 63V @ 1V
A —*Ir = aigy /The circuit shown below will
R
O—\/\N\ o
Vin L Vout
o o

(a) 3ITUNR Hﬁﬁ-ﬁﬁ I 9 h3MM/Pass higher frequencies
(b) fAFIR Hﬁ_ﬁﬁzﬁ FI G FIM/Pass lower frequencies
(c¢) 3I=dIX mﬁaﬁr &I UhaN/Block higher frequencies

(d) 3mgicaal & 9UE HT UHIM/Block a range of frequencies

A feu afyger fir er A §2/What is the current in the circuit below
490 ohms

o i
(@ 10mA (b) 5.1mA ) 204 mA d 49mA

5 1292/16
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12. mémm#ma@ﬁ@?wmﬁﬂ?ﬁ%?

13.

14.

What is the approximate peak current through the diode?

1N4001
23:1 '
:g:‘; @ % é 141 ohmsé[ '
(@ 10 mA () 23mA (¢) 100 mA (d 14.14mA

Wnpngiﬁlmmﬁﬁamﬂﬁésﬁvﬁmﬁf@ﬁﬁﬁﬁm&ﬁﬁﬂﬁmaw??

Which of the following conditions are needed to properly bias an npn transistor amplifier?
(@)  IMYR-ScHoTen A T 32T HTRA TAT MR- 3T Y 1 ST 3P Ty

Forward bias the base-emitter junction and reverse bias the base-collector junction

(b) m-m#ﬁa#ma@aamm-ﬂéﬁﬁﬁrﬂﬁmmm
Forward bias the collector-base junction and reverse bias the emitter-base junction

(©) n-mmwwwmmp-mmwmaﬁmaw@mm
Apply a positive voltage on the n-type material and a negative voltage on the Pp-type material

(d) IR X §2r Qreear I TR &

Apply a large voltage on the base

afe areeHieT 1 AfFar 8.0 v ¢ U arv aRaer & @ 3R &2/ What is the fault in the

given circuit if the voltmeter is reading 8.0 V?

4580 ohms

101,__\/\/\/: ,Z ;I 1.96k Volt meter

I T

(@ S BIET &/Zener is short (b) NN gelr %/cher is open
() IS 31:?.' gl §/There is no fault (d) vt 2er a8 &/Not enough data
6 1292/16
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15.

16.

17.

18.

19,

20.

21.

22

g forely qorferd a7 Pasr v A AT g A et ———

If the input to a comparator is a sine wave, the output is a

(a) 99T dlecdl/ramp voltage (b) WIS dWT/sine wave

(c) 3IAdRR H@T/rectangulm wave (d) 3RT AT TT/saw tooth wave

T ioe @ Ppc 60 & 3R TR FUR URT L 20 pA ¥ TARE OWT

lc——— & &Y 2l
A transistor has a pc of 60 and a base current, Iy, of 20 pA. The collector current, I, equals

(a) 03pA (b) 1200 pA () 1220 pA (d 120 pA

Th S 0T § — & AT Scqoih-YadF & 39T AT S1ar £1/In a C-E
configuration, an emitter resistor is used for:

(a) STI" TUTAIRACT/Bias stabilization  (b) ac Hehel STEUTH/ac signal bypass
(c) g fPATA/collector bias (d) 3T Af/higher gain

U& BCD &l #siRd &t & faw ggera et & der ——
The number of bits used to store a BCD digit is

(@ 8 (b) 4 © 1 d 2

ATy FEAT 1001.0010 FT SAHAAT Fed fhctrm &2
What is the decimal value for the binary number 1001.0010?

@ 125 (b) 125 ) 90.125 d 9.125

R # & Hd ST a6 A BT A v R @ S B o

Hehel &7
A single transistor can be used to build which of the following digital logic gate?
(a) AND gate (b) NOT gate (c) OR gate (d) NAND gate

AT TVl 1@ 397 RhdaT §2/What is the standard TTL noise margin?
(@ 1.0V (b) 02V (c) 08V (d 04V

FOMcHS ATIHT TN F JFd A HAGT FA HY T JiFa
A device for measuring temperature with negative temperature coefficient?

(@ fafd gATdy/Strain gauge (b) ardY UTARIe/ Thermistor
(c) 3MREEVRTD (d) dr9-3egd A/ Thermocouple
7 1292/16
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23.

24,

on 8

26.

2L

F IN-TRT TAT-FAT & G 7 AeaAfaf@a #d & Fla-ar g 82

Which of the following is correct for a D-type flip-flop?

() 3 9w F g T O g & Fg WA A a1 e g &l
The Q output is either SET or RESET as soon as the D input goes HIGH or LOW
(b) ofF Saael AT SIar & o A & @ay & Gy gedn

The output complement follows the input when enabled

¢) Usw §ag ot & Had uF & g% & dehdll gl
Only one of the inputs can be HIGH at a time

d) IR P& F uF A g W S § dr A Slere T §
The output toggles if one of the inputs is held HIGH

wF BaT F -aEATET FeT & v Hefaf@d § F fger g3er fRar S awdr 2
Which of the following can be used for debouncing a switch?

(a) TH-AR AI/S-R latch (b) SAd/Inverter

(c) GHATSTH/Integrator (d) The SAf/Pulse generator

-3 FAq-wellq it T FAT HiT-AT 2

What is one disadvantage of an S-R flip-flop?

(a) 3HF Soel e gl g l/It has no Enable input

(b) =R U gfaeaeT (RACE) feufd g1/1t has a RACE condition
(c) 3G @l AU gl g1/It has no clock input

(d) 3ITF Fad UH A g1/t has only a single output

U Hgfed AT JOTer F HaU H s & HloA-ar T 82

Which is true in a frequency modulated system?

(a) dTge IAH H g=arel Rads FGa ST 0T TR Fd ALl STerall
Variation of carrier amplitude does not affect quality of reception

(b) ST HAATS THh & IHTHR dTeeh I IAA Fael ATl Gl
Amplitude of carrier is varied according to modulating signal

© 9O & v IR qur A & & efSe Y@ Aer el
The transmission does not require line of sight between transmitter and receiver

(d) FfFIE SIS HHES T ITAET FAT T

Receiver uses diode detector

8051 ST &9 & fohcer foet & 3wl & ararm &
How many bits are used in the data bus of 80517
(a) 8 (b)y 16 () 32 (d 24
8 1292/16



28.

25

30.

3l

T JHEd drageA # e decar ——— ¥

The output voltage of a typical thermocouple is

(@ 100 mV ¥ &FH/less than 100 mV

(b) 1V & 3if8/greater than 1 V

(c) d9IIH gforiy ofRafda € EI)ERT-IT I H’éﬁ'/Thermocouples vary resistance, not

voltage

(d) 3'CI'{1W H A Uh #Y TE1/None of the above

lsvwwéﬁamﬁéaﬁvwmﬁmw%1.5\/3?10331??%1@3{76@'
HY| I T T TH Tl JoIeT ofITT T aF dedy fr dieear fraer grefe

A student was asked to connect 10 cells of 1.5 V in series to make a battery of 15 V. If one cell was
connected in reverse by mistake, what will be the battery voltage?

(@ 15V (b) 135V © 12V d 1635V

IaX YRR sheel T AT H HIT H HUdccllich gAT FoifSer qacdefias dr
qeleT A

In the structure of fiber optic cable, the refractive index of core is always —— the
refractive index of cladding

(a) @#H/Less than

(b) STEY/Equalto

(c) 3T&&/Greater than

(d) 399FT # & U # 7 /None of the above

TH Terdr aferT & gifed dr smafcg v A HF —— B

In an LC oscillator, the frequency of oscillator is ———————L or C.

(a T & W/Proportional to square of

(b) €Y W/Directly proportional to )

(c) @I _qel q faeAd: ﬁ@mﬁa?flnversely proportional to square root of
(d) F:I‘\Fé'ﬂ' ¥ Tdd/Independent of the values of

9 1292/16




32. TSIl & dua-usges glgy —— & v wf@wfeua e o &

35,

34.

Sample-and-hold circuits in ADCs are designed to:

(1) IRTdT 9fhar & R gfasmar @3 & T & dga T ges A
sample and hold the output of the binary counter during the conversion process

(b) 9Racer ufshar & N TSR 1 Sgell alecar @ TURliEd He
stabilize the ADCs threshold voltage during the conversion process

(c) 9RaEder ufshar & ERmeT faer JTeT Haha @ TUrlied Fe
stabilize the input analog signal during the conversion process

(d) IRGas gfikar & e USRI W9 AT & d9d 7 gies e

sample and hold the ADC staircase waveform during the conversion process

feu v S 3R FEI®E ged FuAAr —— F gIoq T ST AT B

Maximum component density for a given PCB size can be obtained by

(a) 3IUSG °TH AT Thdl UIRdag drrer
Leaded components and single sided PCB
(b) 3IEE UTH IAT gfd Urdag drier
Leaded components and double sided PCB
(c) THUAD UcH JAT Uhd UIedsg drgreT
SMD components and double sided PCB
(d) THUHAST GTH qAT FEEIT e

SMD components and multi layer PCB

5 ohm GfcRIE @am 0.1 pF $HUfHex & 4@l Fisll # TH 10 V DC W SiIST 1707 &
R 3rgver & 3@ aRuy & Aregd F A=arel oaRT Fasr gei?

A 10 V DC source is connected to a series combination of.5 ohm resistor and 0.1 pF capacitor.

What will be the current through the circuit under steady state?
(@ 2A (b) 10A © 1A d 0A

10 1292/16



35.

36.

37

38.

4.7 uF @AT 10 pF & HAT H H@er T 7 T 15 V DC AT gl S gl
farfof@a 7 & sla-ar a7 T &2

A 15V DC source is connected to the series combination of 4.7 uF and 10 uF capacitors. Which of
the following statements is true? '

(@) 4.7 uF & IRUR T decdr 10 pF & IRUR &1 deear & 310 gefr
Voltage across 4.7 uF will be more than voltage across 10 uF

(b) 10 pF & IRUR &I dleedr 4.7 pF & IRYR $T dicedr T ADF el
Voltage across 10 pF will be more than voltage across 4.7 uF

(c) CIr HUfc T IRUR T dlecar AR gl
Voltage across both capacitors are equal

(d) 10 uF T Q@A 4.7 pF & A T He g
Charge on 10 pF will be more than charge on 4.7 uF

SefFiar e F ol Rr acF 1 Rad e 3um e 1 @ar &1 a8 T ar
a ————— 7 A Fem

The output of a logic gate is 1 when all its inputs are at logic 1. The gate is either

(a) Uk A% IT U A/a NAND ora NOR

(b) U U3 T 37an AND or an OR

(c) T 3R AT U TA/an OR or an XOR

(d) U US IT TF =¥/an AND or a NOR

fordT 3P eeg & 131 1 dwar @F § 31 QAww, sEd S w & v g9 3Rg
e i

The most suitable gate to check whether the number of 1’s in a digital word is even or odd is

(a) UFER/XOR  (b) SZ/NAND (c) @TUNOR () US/AND

T aur & & &g & gH7dr iR &1 9a1 emsv
Find out the effective resistance between A and B

3 ohm B

18 ohm
A -\

8ohm

6 ohm

L AAN—

5ohm

(a) 40 ohms (b) 20 ohms (¢) 15 ohms (d) 12 ohms
11 1292/16



39. 8T SUAT F FHIFA-AT FE' §2/Which of the statement is true?

() VI+V2=ixR1+ixR2 +ixR3

(b) VI1=i(R1+R2+R3)-V2

(c) V2=VI1-ixR]l-ixR2-ixR3

(d) 3‘1’{13’?!’ H & ua #T AE/None of the above

40. ol FYUAT 3 FIT-TT TET §2/Which of the statement is true?

5000hm  y 500 ohm V3

(@ V1 in volts =11 in Ampere x 500

(b) (V1involts/500) =1I1- (V1 - V2) in volts x 500
(c) V1, V2 and V3 are independent of I1 and 12

(d) (V3 in volts/500) =12 — {(V3 — V2) in volts}/500

41. 230 V, 50 Hz AC 3+ & &I & X § UFh 07 el gaf Reeshlt &1 37 smafea

100 Hz & Pe=ifaf@d & 4 Si9-a1 a9 a8 el o7

The ripple frequency of a full wave bridge rectifier working with 230 V, 50 Hz AC mains is
100 Hz. Which of the statement is not true

(a) ST X@T 9T HEIRA Uk 378 e feseannly &1 37 3mafe 50 Hz
The ripple frequency of a half wave rectifier working with the same line is 50 Hz
(b) =8 Y@ W FERG T qOF aler S AR fseawny # 37 3gfed 200 Hz &

The ripple frequency of a full wave centre tapped rectifier working with the same line is
200 Hz

(©) wmwmw@mmmmﬁﬁmmm%a

The ripple frequency of a full wave centre tapped rectifier working with the same line is
100 Hz

(d) 3‘1’1’:133 #H ¥ a3y A€/ None of the above
A 12 1292/16



42.

43.

44,

45.

BT 10 FAIS=T9E gRIYT Fi F ufaeenfa far s gwar 2

The given combinatorial circuit can be replaced with

A
Output
B
(@ 3R/OR (b) US/AND (c) #S/NAND (d) FARYNOR

Teh 220 Q YfaRIes & AT 37 g &7 &2

What is the color code for a 220 Q resistor?

(a) @I, &Tel, 830, GaU/Red, Red, Brown, Gold

(b) HRT, AT, I, Fa0I/Orange, Orange, Black, Gold
(c) e, @Te, HTell, a0l/Red, Red, Black, Gold

(d) T, &TT, AT, TIG/Red, Red, Orange, Silver

I5 fohe 9 T T8a= § 2/What type of switch is this ?

BT

(2) 9T S<=T/push button (b) THITHE/SPST
() SEE/DPDT (d) THRSEYSPDT

FIA-AT deed W TS Faf # fega o # aRafda a=ar &

Which voltage source converts chemical energy to electrical energy?
(a) ﬁi’@ff SfA/Electrical generator

(b) d/Battery

(c) @R Fd/Solar cell

(d) 3?13@'% il HTq‘ﬁfElectroniC power supply

13
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46.

47.

48.

49.

50.

w%40c¢raﬁarm%ﬁgaﬁzoaﬁa§ﬁwm%mﬂmw%?

If 40 C of charge flow past a point in 20 s, what is the current?
(a 2A (b) 05A () 20A (d 40A

S WA RRITE A R Heal b e & T 0w afed erw ReaET 2 B
When parallel resistors are of three different values, which has the greatest power dissipation?

(2) HIH HA YTARIEH/The smallest resistance

(b) TIE HFH gfAA/The largest resistance

(c) 3ot UTFT &7 AT &/T hey have the same power loss

(d) drecar ar gfa’rer ?H‘\WIT $r HTTIHRAT I/ Voltage and resistance values are needed

TS FA A 3 2k JA 1 k IR T T o 3 mA ¥ A e ofFT e
foha &2

What is the total power loss if 2 k and 1 k parallel-connected resistors have a total current of
3 mA?

(@ 6W (b) 36 W () 6mW @) 36mW

g URYY FIAT §2/What is this circuit?

<y
.l -
1 uF
Pt
<'\J 1oV R;§ 1 k0 Vout
= 1000 Hz -
(@ &3 T iﬁﬁc»EQ/bandpass filter (b) I=Td U iEﬁRI/high-pass filter

(c) T 9R& Thee/low-pass filter (d) Ta9cH/differentiator

frfafda & @ wla-ar el SRR fr afar & Py s &
Which of the following determines the capacitance of a capacitor?
(a) TelT &, YA JUT AT JUEFHIOT
Plate area, temperature, and plate separation
(b) dreedl 3eIHdih, WAGTdF TN AT auTie
Voltage rating, dielectric constant, and temperature coefficient
(c) TTIHAIT IOTIh, Tle &1F AT Tl JUFHIT
Temperature coefficient, plate area, and plate separation
(d) AT &, Wdedid TUT TolT JUFHIT

* Plate area, dielectric constant, and plate separation

14 1292/16



51.

52.

9 99y FI YgATAT|/Identify this circuit

(@)
(©)

IDEAL_OPAMP

P

Vnut

|

foiF T IR+ e/ low pass filter (b) 3= URF ThecT/high pass filter

35 UR& ieﬁo—EI/bandpass filter

few arv gy # afew gew

Decreasing the gain in the given circuit could be achieved by

(@)

(b)

(c)

(d)

(d) o3 fauFEs eeyband stop filter

EART WTed AT ST FehaT &1

Ry
AAA
200 ko
R;
0 vﬂ'ut
Vin EE 3V
60 mv
fAder dreear gera
Decreasing the input voltage
JAfAGY G Ry g

Increasing the feedback resistor R¢
foaer wfadiue R; sget
Increasing the input resistor R;

e gfoRias gee

Decreasing the input resistor R;

15
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23,

54.

33.

56.

Ru v aRuy F & a8 R diecdr & 37U o W ieRe & FHed FAT e
Tfgu?

What value of input resistance is needed in the given circuit to produce the given output voltage?

Ry
e
200 ko
Ry
. Vgut
Vi + -V
60 mvV

(@) 50Q (b) 4kQ ©) 4.08kQ @ 5kQ
ﬁ:ﬁramgm%f?v%ﬁﬁﬁmﬁrwﬁw gl

The purpose of cold junction compensation for a thermocouple is
(a) dTIHAT HdeaTRiTeldl Helel/to decrease temperature sensitivity
(b) dlecd 39T Felal/to increase voltage output

(c) fHar A9gIH Bl 3HAGTR diecar 9H IE FIT/to cancel unwanted voltage output

of a thermocouple

(d) 3T dAR 9R9UT & fIT g¥Fd/used for high-temperature circuits

2 k x 8-bit RAM il =TeH i % foTT smrawres Tetd fori ! @&/ The number of address bits

needed to operate a 2 k x 8-bit RAM are
@@ 9 (b 25 fe)" 18 @ 11

EAAAT FE&AT 151.75 1 gfasmandr # Fgfav)

Convert the decimal number 151.75 to binary

(a) 10000111.11 (b) 11010011.01
(c) 00111100.00 (d) 10010111.11
16 1292/16



57.

58,

39.

for aT gRuy $r Zfdds deedr fhder §7

What is the secondary voltage in the given circuit?

3l

40 V rms :

—0

(2) ST & @Y 3T HF13.3 Vrms/13.3 V rms in phase with the primary

(b) STUAE & WA g1 HH120 V rms/120 V rms in phase with the primary

(c) WIafA® & WY 3T 3% HH13.3 Vrms/13.3 V rms out of phase with the primary

(d) THTAE & qTYT A3 i E120 V rms/120 V rms out of phase with the primary

%@mwﬁq&r%mﬁmﬁmmﬁmm‘maﬁam%?

What is the power dissipated in the primary of the ideal transformer in the given circuit?

1:5

000N —

50V H
() 25mW (b) 500 mW ) 125W
=@ wfaRes & gevarer AfFd &d feha=T 82
What is the power dissipation in the resistor?
I
§
1BV= R

. 3000

(@ 10w (b) 1.08W () 11mW

17

1ka

d) 62.5W

(d) 10mW
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60. TH NAAM F WY TS SIS A TR FHA W

6l.

62.

AIfaT1/Testing a good diode with an ohmmeter should indicate
(2) o9 3R IT qF Fr 3R AT § I9 Iz gy

high resistance when forward or reverse biased
(b) ST 3T AT G A 3R AT § g9 AT gl

low resistance when forward or reverse biased

© o9 9% & 3R 3=a § a9 39 ufady 3R S 3 i N AHPEd & oaw
AT gfay

high resistance when reverse biased and low resistance when forward biased

(d) mmﬁmm%mﬁmmmmﬁmmam
=T gfaier

high resistance when forward biased and low resistance when reverse biased

e} SRS & ATH & TAAdTell &RT Shid-ar g2

What is the current through the zener diode?

Ry
A
1ka (i T
I 2
= e X
(a) 6mA (b) 7mA (c) 83mA (d 13mA

ST BT 3oT YRNY & GAieR F BT 9RRY SiEr ST ® ar @fed shRy
| 1

When a low resistance is connected in parallel with a high resistance, the combined resistance is

(a) AW 37 I=a 9k & 3FH/Always more than the high resistance
(b) &AM 37 ITd AR & FFA/Always less than the low resistance
(c) &AM I=a ufarer Jr et 9fady & siw/Always between the high resistance & low

resistance
) 3T9 9T & Hed F IR W @ JioRIY & a1 aF 39 O I1 WFTa Either

lower or higher than low resistance depending on the value of high resistance

18 1292/16



63.

64.

65.

66.

e SHaTRiey &1 aTRar Hed sTaad g2

Capacitor that can have the highest capacitance value is

(@)
©

HISHhI/Mica (b) hIITSI/Paper
golaglelaf ¢ah/Electrolytic (d) TRAS/Ceramic

fFdl THEIR & GRRA & 91¢ gaRT Te Aere 3 Sar 81 @l o

gt

After firing an SCR, the gating pulse is removed. The current in the SCR will

(a) 3IRETIT IEAT &/Remains the same

(b) T YT T AT/ Immediately fall to zero

() d¥g SATUMN/Rise up

(d) UET Feax iR YT H STT/Rise a little and then fall to zero

3e3re b Ut & 3refler IRTer S@er WRUT ——— & T F FF Fam BV
Under the condition of resonance, RLC series circuit behaves as a,

(a) qy‘ra: gfaRItTcas tlﬁ'qil'/Purely resistive circuit

(b) qﬁﬁ': WRforE aRaer/Purely inductivc circuit

(c) TRar 9RYY/Capacitive circuit

(@) wfaer aRg2/Reactive circuit

frdr ST 7 IR}y 3R Icuew I NS A IR FADFT § 3K IR daes I
S & 3R 3P/ ar T8 F garfag aar &

In a BJT, if the base-emitter junction is reverse-biased and the base-collector junction is reverse-

biased, it is said to operate in

(@)
(b)
(©
(d)

afeha 8T H/in active region

ﬁ?[ﬁ?—l’ &9/in saturation region

3d% &F/in cut-off region

mﬂﬁ' #F ¥ s 3 6/none of the above
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67.

68.

69.

70.

i

yatie gRuAl F IAT HFUIRAERT 1 39T sAfAT B oar &/ A

Coupling capacitors are used in amplifier circuits to

(@) TH T SR dleedi3i #, Uw g @ yeriad fRv R, gifsreex H HIgFd glet
Co Y
allow AC and DC voltages to be applied to the transistor without affecting each other

(b) e T T ol d@dar & T e se €

increase coupling between the input and output AC signals
(c) eifere A IR T FaAeh TR T I e &
couple the base and collector currents of the transistor

(d) SHIT dreear afe¥r T dgrar &

increase the DC voltage gain

U AT HRU GRYY 3 Reed & {ed 1 Honry qaT SR 10 ohms &1 8 TROY
HT Frel FeUteh fevctetr 82

In a series RL circuit the value of inductance is 1 Henry and resistance is 10 ohms. What is the time
constant of the circuit?

(a) 0.13./sec

(b) 1% ./sec

(c) 10&./sec

(d) 3"1'{13’?[ H A Uh Y FE/None of the above

Uh #Gal 3R GRUY 7 IRecd & Aod 1 Henry adT FfAAT 10 ohms &1 IR =9
qﬁtrersfrt=0q1r1oovma:raﬁmi%mm%mo.1@%wwww
fehcrr grem?

In a series RL circuit the value of inductance is 1 Henry and resistance is 10 ohms. If 100 V DC is
applied to the circuit at t = 0, what is the value of current at 0.1 sec?

(a 10A b)) 1A (©) 63A @ 37A

I:5 9l 390 # JFT UF dlecdl ERU-3T EEHR F @TE F 2200 ohms
3RYR 220 V g1 YATHS URT & AT T IRebeleT BT

A voltage step-up transformer with a 1:5 turns ratio has 220 V across 2200 ohms in the secondary.
Calculate the value of primary current.

(a 0.1A (b) 05A © 10A (d) 220 mA

frder smqfca 1 40 & Fenforg a<a & AT fhaer fraw-warat &1 maegsar &

How many flip-flops are needed to divide the input frequency by 40?
(a 4 ) 5 © 6 (d 40
20 1292/16
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73.

74.

5.

76.

JHRUT FAATe U UOA 9T 10 kW & fafeor &tar 1 afd Argest 60% & ar ared
T & ot ofFa garfea &

A broadcasting AM transmitter radiates 10 kW. If the modulation is 60%, how much power is
contained in the side band?

(@) 8.47kW (b) 1.53kW © S5kW ) 3.06kW

e 3ifFamgr & vedr @1 FF - E

The function of AGC in radio receiver is

(a) a2 Hohd HI HH FHLAT/To attenuate the input signal

(b) AU Hehd HI yatel TA1/To amplify the input signal

(c) UtT Hhd do H B’I?-‘Ia'lﬁ 3Targaal I Hﬁq‘ﬁ &T/To compensate for the

fluctuations in the received signal strength
(d) 9TCT Hehd o @ &l &HA FleTl/to reduce noise in the received signal

UF SATHT aT T 3Mghed 30 A rms URT & Y 50 Hz §1 @eAfaf@a & & @la-ar
FHIEROT 36 AT &1 glafeieed wdr g7

A sinusoidal wave has a frequency of 50 Hz with 30 A rms current, Which of the following
equations represent this wave?

() i=4242sin314t (b) i= 60sin25t
(c) i=30sin50t (d) i= 84.84sin25t

(8.3)*= (1.7)* T TIA FASTI/Simplify: (8.3)°— (1.7)°
(a) 66 (b) 6.6 (c) 10 (d 0.66

UF AT F AEE HAed T 3000 F1 TR IH 10% W W TGN ST § AT IHhr feshr
Hed fhcar grem?

The cost price of a table is Rs. 3000. If it is sold at a profit of 10% what is its sale price?

(a) %./Rs.3000 (b) E./Rs.300
() %./Rs.3300 (d) %./Rs.2700
21 i 1292/16
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78.

79.

80.

A x=3,y=2% a (x+y)(xy) F T —— ¥

If x =3, y = 2, then the value of (x+y)(x-y) is ?

(@ 5 (b) 6

(c) 4 (d o

9, 8, 12 & TolltH —— BI/LCMof 9,8, 12 is
@ 72 (b) 864

(c) 144 (d) 288

T (A) R & &1 3 feet & g FW uwar &1 9 R o (B) 2 ReAY F W @war B
afE T qur & vhary w1 RS § A fiae Rt F a8 wRF g g Smeem

A can finish a work in 3days and B can finish the same work in 2 days. If A and B together works,

in how many days the work can be finished?
(2) 1T=/day ‘ (b) 5 T/days

(¢) 1.2 &/days (d) 0.8 &aA/days

U g9 5 €T A 200 TRl gff 9R Fel ¥ AR 9% §9 gHw 9y W g ¥ ar
320 fh.AAY. i Fer gfr & I &g IR FraeT TEE TRW

A bus covered a distance of 200 kms in 5 hours. If the bus travels with a uniform speed, how much

more time required to travel a total distance of 320 kms?

(@) 8 ®c/hours b) 3 T /hours
(c) 5 Ec/hours (d) 1€<Thour
22 1292/16



